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Roadmap

• This week (Functions), the goals are: 
• To understand the idea of 

functional abstraction 
• To study this idea through: 

• higher-order functions 
• recursion 
• orders of growth

Introduction

Functions

Data

Mutability

Objects

Interpretation

Paradigms

Applications
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• If two implementations are equally clear, then 
shorter is usually better

• In this case, the longer implementation is more 
clear (to me)
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Tree Recursion

def fib(n):

    if n == 0:

        return 0

    elif n == 1:

        return 1

    else:

        return fib(n-2) + fib(n-1)

Tree-shaped processes arise whenever executing the body of 
a recursive function makes more than one recursive call
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